
 

jkT; izfrHkk [kkst ijh{kk 

 (Mental Ability) ckSf)d ;ksX;rk ijh{kk 

d{kk X   

uewus ds iz’u 

 

Ø-la- iz'uksa dh la[;k 

dgk¡ ls dgk¡ rd 

dqy iz’u 

1- ckSf)d ;ksX;rk 1&5 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
  



STSE SAMPLE PAPER 
ckSf)d ;ksX;rk d{kk X 

 
1-    lgh fodYi dk p;u dhft, 

 

 U;k;ky; % U;k; % % Ldwy % 

 1- v/;kid  2- Nk=  3- mnklhurk  4- f'k{kk 

 
 Choose the Correct alternatives 
 
 Court : Justice : : School : 
 
 (1) Teacher    (2) Student     (3) Ignorance    (4) Education  
           
 
  

2-       nh xbZ la[;k Js.kh esa ,d in xyr gS] xyr in gS %& 

 

 6, 14, 30, 64, 126 
 
 (1) 6   (2) 14   (3) 64   (4) 126 
 
 In the following series one term is wrong. the wrong term is 
 
 6, 14, 30, 64, 126 
 
 (1) 6   (2) 14   (3) 64   (4) 126    

  

 

    

3-  ;fn fdlh ekg esa 4 rkjh[k dks jfookj gS rks mlh ekg dh 27 rkjh[k dks 

 dkSulk fnu gksxk \ 

 

 ¼1½ lkseokj  ¼2½ eaxyokj  ¼3½ cq/kokj  ¼4½ 'kfuokj 

 

 If 4th day of any month is Sunday, the 27th day of the same month will be : 
 
  (1) Monday  (2) Tuesday  (3) Wednesday  (4) Saturday  
  

 
 

4-  fn;s x;s fp=ksa esa ls ,d fp=] vU; fp=ksa ls esy ugha [kkrk gSA csesy gS& 

 

 In given figures, one does not match with the rest of the figures. odd figure is : 
 
 
 
 
 
 
 
  1          2             3     4  
 



     
 

5-  fuEufyf[kr vkd`fr esa fdrus f=Hkqt gSa & 

 How many figure triangles are there in the following  figure : 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(1) 9   (2) 10 
 
(3) 11    (4) 12       



 

mÙkj rkfydk 

ckSf)d ;ksX;rk d{kk& X 

 
iz'u mÙkj 

1 4 

2 3 

3 2 

4 4 

5 4 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 

 

jkT; izfrHkk [kkst ijh{kk 

¼d{kk &10 esa v/;;ujr fo|kfFkZ;ksa gsrq½ 

Hkk"kk ;ksX;rk ijh{kk (LCT) & fgUnh@vaxszth 

Ukewus ds iz’u (Sample Questions) 

 

 

Ø-la- fo"k; iz'u la[;k dgk¡ ls dgk¡ rd dqy iz’u 

1- fgUnh 1 & 5 5 

2- vaxzsth 6 & 10 5 

 ;ksx & 10 

 
  



 

 

Hkk"kk ;ksX;rk ijh{kk (LCT) & fgUnh 

uewus ds iz’u X gsrq 

 

iz’u &1- thHk ds vxz Hkkx ls mPpkfjr /ofu gS &  

¼1½ ,                    ¼2½ v              ¼3½ m               ¼4½ vkS 

 

iz'u &2- ^vUos"k.k^ 'kCn dk laf/k foPNsn gS & 

¼1½ vu~ +  os"k.k                  ¼2½ vu +  ,"k.k                   

¼3½ vuq +  os"k.k                  ¼4½ vuq +  ,"k.k                   

 

iz'u &3- xq.k laf/k dk mnkgj.k gS& 

¼1½ fo|kFkhZ         ¼2½ vyadkj          ¼3½ ijksidkj          ¼4½ fnXxt 

 

iz'u &4- ^vk’khZokn^ 'kCn dk 'kq) :i  gS & 

¼1½ vk’khokZn      ¼2½ vkf’kjokn       ¼3½ vk’khjokn         ¼4½ vkf’kZokn          

 

iz'u &5- fuEufyf[kr esa ls fdl tksM+s esa foykse 'kCnksa dk esy ugha gS & 

¼1½  fujis{k&lkis{k       ¼2½ t;&fot;       

¼3½ tM+&psru           ¼4½ le&fo"ke 

Subject-  English 
 

6.  ..................... You Please give me a glass of water ? 

 1.  Might    2.  Shall 

 3.  Must   4.  Would 

7. Ravi................................ to Delhi next week 

 1.  is going   2.  will go  

 3.  was going   4.  has gone 

 



8.  Mohit said to me, “You are a good girl”. 

 Mohit told me that  

1. you were a good girl 

2. She is a good girl 

3. I was a good girl 

4. I am a good girl 

9. Sheela is watching a T.V.  

The passive voice of this sentence is  

1. A T.V. is being watched by Sheela 

2. A T.V. is Watched by Sheela 

3. Sheela has Watched T.V. 

4. Sheela watched the T.V. 

10. The meaning of the word put off  means- 

 1. To decline 

 2. To Postpone 

 3. To neglect 

 4. To refuse 

 

 

  



 

 

   

mŸkj rkfydk 

 

 

Ø-la- fo"k; lgh mŸkj 

1- fgUnh 1 

2- fgUnh 4 

3- fgUnh 3 

4- fgUnh 1 

5- fgUnh 2 

6- vaxzsth 4 

7- vaxzsth 2 

8- vaxzsth 3 

9- vaxzsth 1 

10- vaxzsth 2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

jkT; izfrHkk [kkst ijh{kk 

'kSf{kd ;ksX;rk ijh{kk ¼SAT½ 

¼d{kk&10 esa v/;;ujr fo|kfFkZa;ksa gsrq½ 

Sample Questions ¼uewus ds iz’u½ 

 

Ø-la- fo"k; iz’uks dh la[;k 

dgk¡ ls dgk¡ rd  

vad 

1- HkkSfrd foKku 1&5 5 

2- jlk;u foKku 6&10 5 

3- tho foKku 11&15 5 

4- xf.kr 16&20 5 

 ;ksx & 20 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 

                 Subject-  Physics 

Class-X 

uewus ds iz’u  ¼Sample Questions) 

 

1-  5Kg nzO;eku dh ,d oLrq ,d fpdus Q’kZ ij 5 ms-1 ds leku osx ls 

ljy js[kk esa xfr’khy gS] oLrq ij dk;Zjr cy dk ifj.kke gS %& 

¼1½  25 N           ¼2½  1 N 
¼3½ 'kwU;             ¼4½ 10 N 
 

A body of mass 5 Kg is moving on a smooth floor in a 
straight line with a uniform velocity 5 ms-1 resultant force 
acting on the body is  
¼1½  25 N           ¼2½  1 N 
¼3½ 'kwU;             ¼4½ 10 N 
 

2- dk;Z dk ek=d gS %&  

¼1½ N m             ¼2½  Nm-1 
¼3½ N m2

             ¼4½ N2m 
 

Unit of Work is – 
¼1½ N m             ¼2½  N/m 
¼3½ N m2

             ¼4½ N2m 
 

3- ;fn izR;korhZ /kkjk L=ksr dh vko`fr 50 HZ rks ;g 1 feuV esa daiu 

djsxk & 

¼1½ 50                ¼2½  300 
¼3½ 3000                              ¼4½ 30,000 
 

if a AC  Source has frequency  50 HZ than  it will vibrate in 1 
min – 
¼1½ 50                ¼2½  300 
¼3½ 3000                              ¼4½ 30,000 
 

   4- fdlh mÙky ySl ds /kzqo ,d izdk’k fdj.k ij vkifrr gS ySal ls viorZu 

ds i’pkr~ ;g xqtjsxh& 
¼1½  Qksdl fcUnq ls    ¼2½  oØrk f=T;k ls  

¼3½  vfopfyr xqtjsxh  ¼4½  eq[; v{k ds lekUrj 
  

A ray of light incident on the pole of a Convex Lens after 
refraction from lens it will pass through  
(1)  Focus Point                       (2)  Center  of curvature  
(3)   remains undeviated       (4)  parallel to principal  
 
 



 
 
 

   5-  ;fn fdlh ifjiFk ds nks fcUnqvksa ds chp 1C vkos’k dks ,d fcUnq ls 

nwljs fcUnq rd ys tkus esa 1J dk;Z fd;k tkrk gS rks nsk fcUnqvksa ds e/; 

foHkkarj gksxk& 
¼1½  4 V                ¼2½  1 V  

¼3½  8 V                ¼4½  'kwU; 

When  1 J of work is done to more a charge of 1C from one 
point to another, then the potential difference between 
two point will be  
¼1½  4 V                ¼2½  1 V  

¼3½  8 V                ¼4½  'kwU; 

 

 

jlk;u foKku 

 

iz’u &6- QSfjd vkWDlkbM dk jklk;fud lw= gS &  

¼1½ FeO          ¼2½ FeO2          ¼3½ Fe2O3           ¼4½ Fe2O 

 
 

The Chemical formula of ferric oxide is – 

¼1½ FeO          ¼2½ FeO2          ¼3½ Fe2O3           ¼4½ Fe2O 

 
 

iz'u &7- tc vEy ,oa {kkj ds foy;u dks fefJr fd;k tkrk gS rks & 

¼1½ dksbZ vfHkfØ;k ugha gksrh gSA             ¼2½ ,d u;k vEy ,oa {kkj curk gSA            

¼3½ ,d yo.k ,oa ty curk gSA             ¼4½ ,d vEy ,oa yo.k curk gSA 

 

When aqueous solutions of an acid and base are  mixed – 

¼1½ No reaction occurs.              ¼2½ A new acid and new base are formed.          

¼3½ A salt and water are formed.      ¼4½ An acid and a salt are formed. 

 
 

iz'u &8- dkSu lk /kkrq dk lYQkbM v;Ld ugha gS & 

¼1½ ftad CySaM          ¼2½ MksyksekbV          ¼3½ vtsZUVkbV          ¼4½ xsysuk 

 

Which is not sulphide ore of metal – 

¼1½ Zinc blende.              ¼2½ Dolomite.           

¼3½ Argentite.                ¼4½ Galena. 

 

iz'u &9 10
0 

C rkiØe cjkcj gksrk gS & 

¼1½ 163 K     ¼2½ 10 K       ¼3½ 183 K        ¼4½ 283 K 

          

10
0 

C
 
 Temperature is equal to – 

¼1½ 163 K     ¼2½ 10 K       ¼3½ 183 K        ¼4½ 283 K 

 

 

iz'u &10- fuEufyf[kr esa ls dkSu fV.My izHkko iznf’kZr djsxk & 



¼1½  LVkpZ foy;u             ¼2½ lksfM;e DyksjkbM foy;u                

¼3½ dkWij lYQsV foy;u       ¼4½ 'kdZjk foy;u 

 

 

Which of the following will show tyndall effect – 

¼1½ Starch solution.              ¼2½ Sodium Chloride solution.           

¼3½ Copper sulphate solution.    ¼4½ Sugar solution. 

 

tho foKku 

iz’u &11- ekbVksdkWfUMª;k dh rjg nksgjh f>Yyh dk dksf’kdkax gS & 

¼1½ xkYxh midj.k                    ¼2½ IykfLVM               

¼3½ ykblkslkse                        ¼4½ vUrZiznO;h tkfydk 

Like mitochandria the cell organel of double layered membrane is – 

(1) Galgi Complex                  (2) Plastid  

(3) Lysosome                         (4) Endoplasmic reticulum 
 

iz'u &12- 'kjhj esa ladqpu o f’kfFkyu djus okys Ård dk uke gS & 

¼1½ vfLFk                   ¼2½ mikfLFk            

¼3½ daMjk                   ¼4½ is’kh 

Name the tissue which helps in contraction and expansion of body – 

(1) Bone                              (2) Cartilage  

(3) Tendon                          (4) Muscles 

iz'u &13- ikS/kksa ds ok;qe.My ls xSlksa dk vknku&iznku djus gsrq vko’;d dksf’kdk;sa 

gSa& 

¼1½ lgk;d dksf’kdk;sa          ¼2½ Nky dksf’kdk;sa          

¼3½ j{kh dksf’kdk;sa             ¼4½ ¶yks;e e`nwrdh dksf’kdk;sa 

In Plants the cell necessary for exchange of gases from atmosphere are  
– 

(1)  Subsidiary cell                (2) Bark cell  

(3) Guard Cells                     (4) Phloem parenchyma cells 

 

 

 

 



 

iz'u &14- euq"; esa o`Dd ,d ra= dk og Hkkx gS] tks lEcfU/kr gS & 

¼1½ iks"k.k      ¼2½ 'olu       ¼3½ mRltZu         ¼4½ ifjogu    

  

Kidney is that part of body systam in man which is related with – 

(1) Nutrition                 (2) Respiration  

(3) Excretion                 (4) Traslocation 

 

iz'u &15- v.Ms nsus okys Lruik;h dk mgkgj.k & 

¼1½  pexknM+           ¼2½ daxk:               

¼3½ euq";               ¼4½ bfDMuk 

 

Example of egg laying mammel is – 

(1) Bat                (2) Kanggaroo  

(3) Man              (4) Echidna 

 

xf.kr  

16-  ;fn x =  
 

    
   rc  x2 + 

 

      dk eku gksxk 

 ¼1½   4     ¼2½     8   

 ¼3½   13  ¼4½ 14 

If  x =  
 

    
  then the value of x2 + 

 

         will be . 

 ¼1½   4     ¼2½     8   

 ¼3½   13  ¼4½ 14 

17- izFke n le izkd`r la[;kvksa dk lekUrj ek/; gksxk & 

 ¼1½   n   ¼2½    ¼n+1½ 

 ¼3½   n(n+1)  ¼4½    
       

 
 

 

The arithmetic mean of first  n even natural numbers will be.  



 ¼1½   n   ¼2½    ¼n+1½ 

 ¼3½   n(n+1)  ¼4½    
       

 
 

18-    fn;s x;s fp= esa 0 o`Ùk dk dsUnz gS rFkk  A=600
 rc  OBC dk eku gS  

 ¼1½   20
0
  ¼2½  30

0
 

 ¼3½   60
0
  ¼4½  120

0
 

 

In the give figure, O is the centre of circle and    A=600, then 

the value of  OBC  

 ¼1½   20
0
  ¼2½  30

0           
 

 ¼3½   60
0
  ¼4½  120

0
 

19-   ,d xksys dks fi?kykdj ,d 'kadq cuk;k tkrk gS] ;fn xksys rFkk 'kadq ds vk/kkj 

dh f=T;k,¡ 3cm gks] rks 'kadq dh Å¡pkbZ gksxh \ 

 ¼1½  3 cm  ¼2½  6 cm 

 ¼3½  9 cm  ¼4½  12 cm 

A lead sphere is melted and cone is made. if radii of sphere and 

base of the cone is 3 cm. then height of cone will be . 

 ¼1½  3 cm  ¼2½  6 cm 

 ¼3½  9 cm  ¼4½  12 cm 

20. ,d yhi o"kZ esa 53 cq/kokj vkus dh izkf;drk gS 

¼1½  
 

 
   ¼2½  

 

 
  

 ¼3½  
 

 
   ¼4½  

 

 
 

             The probability of coming 53 wednessday in a leap year is  

 ¼1½  
 

 
   ¼2½  

 

 
  

 ¼3½  
 

 
   ¼4½  

 

 
  

 



jkT; izfrHkk [kkst ijh{kk 

'kSf{kd ;ksX;rk ijh{kk ¼SAT½ 

mÙkj rkfydk 

¼d{kk&10 esa v/;;ujr fo|kfFkZa;ksa gsrq½ 

 

 

 

Ø-la- lgh mÙkj 

1- 3 

2- 1 

3- 3 

4- 3 

5- 2 

6- 3 

7- 3 

8- 2 

9- 4 

10- 1 

11- 2 

12- 4 

13- 2 

14- 3 

15- 4 

16- 4 

17- 2 

18- 2 

19- 4 

20- 3 


